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THE STATE OF WORLD POPULATION 2012
BY CHOICE, NOT BY CHANCE

Goal: Making voluntary family planning available to all who need it

WHY DOES THIS NEED TO BE DONE?
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* 867 MILLION
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FERTILITY RATES

;33 World: 2.5 births per woman
33 More developed: 1.7

333 Less developed: 2.8

;3;3;_ Sub-Saharan Africa: 5.1
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IN SUB-SAHARAN AFRICA...
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THREE TIMES
DOUBLE

42%

WHAT IMPACT DOES THIS HAVE?
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ECONOMIC BENEFITS
$4.1 BILLION

$5.7 BILLION

SCHOOLING
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10% nees
$1,000 to $2,400
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U ® WOMEN'S LABOUR FORCE
14%

15%

MATERNAL HEALTH BENEFITS

CHILD HEALTH BENEFITS

46%




